benwek caHgap: lNudarop Ti3beri

ATbI->KOHI:

CbIHbIBbI:

KYHI:

(

Herisri neHren

1) EcenTeHis:

1
a) 16 caHbIHbIH E GeniriH

C) 16 caHbIHbIH,

2) EcenteH;s:

1
— GeniriH
8

1
b) 16 caHbIHbIH Z GeniriH

1
d) 16 caHbIHbIH E OeniriH

1 1
a) 81 caHblIHbIH g GeniriH b) 81 caHbIHbIH 5 GeniriH
1 - 1 iy
¢) 81 caHbIHbIH, — GeniriH d) 81 caHbIHbIH — GeniriH
27 81
3) EcenTeHis:
1 . 2 iy 3_
a) 14 caHbIHbIH ; GeniriH b) 14 caHbIHbIH ; GeniriH C) 14 caHbIHbIH ; OeniriH
4 5_ 6
d) 14 caHbIHbIH 7 GeniriH €) 14 caHblIHbIH ; GeniriH f) 14 caHbIHbIH, 7 GeniriH
7 _
g) 14 caHbiHbIH ; BeniriH




benwek caHgap: lNudarop Ti3beri

Herisri neHren

4) EcenTeHis:

1
a) 40 caHbIHbIH g GeniriH
3_
c) 40 caHbIHbIH, — BeniriH
5
€) 40 caHblIHbIH, g BeniriH

7
g) 40 caHblHbIH Py GeniriH

5) EcenteHja:

1 1
a) — CaHblHbIH — GeniriH
2 2

1 1 .
C) — CaHblHbIH — GeniriH

6) EcenTeHis:
1 1 .
a) — caHblHbIH, — GeniriH

CaHbIHbIH l GeniriH

c)l
7 2

2
b) 40 caHbIHbIH, g GeniriH
4
d) 40 caHbIHbIH g GeniriH
6
f) 40 caHbIHbIH, g GeniriH

8
h) 40 caHbIHbIH g GeniriH

1 1
b) — CaHbIHbIH,E GeniriH

6

d) lcaHbleu-q l OeniriH
10 2

b) l CaHblHbIH l GeniriH
2

d) l CaHblHbIH l GeniriH
9 2




benwek caHgap: lNudarop Ti3beri

ATbI-KOHL:

ChIHBIBDBL:

KYHI:

—

( Oprawa geHren

1) EcenTeHis:

1 1
a) 5 CaHblHbIH, E GeniriH b) l CaHbIHbIH l GeniriH
1 1 y 1 1 y
C) — CcaHblHbIH, — GeniriH d) _— caHblHbIH — GeniriH
8 2 10 2
2) EcenTeHis:
1 1 . 1 1 .
a) E CaHblHbIH E GeniriH b) — caHblHbIH —  GeniriH
1 1 . 1 1 .
C) — CaHblHblH, —  GeniriH d) 5 CaHblHbIH —  GeniriH
7
3) EcenTeHia:
1T 1 1T 1 1 1 1 1
a) —x — b) —x — C) —X — d) —x —
2 2 2 6 2 8 2 10
4) EcenTeHis:
1 1 1 1 1 1 1 1
a) —x — b) —x — c) —x — d) —x —
2 3 2 5 2 7 2 9




benwek caHgap: lNudarop Ti3beri

(

OpTalwa geHren

5) EcenteHja:

V53

6) EcenTeHis:

7) Ecentenja:

3]

3 3 2 5
b) — x — Cc) —Xx —
7 5 3 7
3 4 2 3
b) —x — C) —x —
10 5 3 7

d)5
“x =
8




benwek caHgap: lNudarop Ti3beri

ATbI->KOHI:

CbIHbIBbI:

KYHI:

(

TepeHaeTinreH geHren

—

1) EcenTeHis:

1
X —
2

N | —

a)

2) EcenTeHis:

) 1
a) = x —
3

N[ —

3) Ecentenja:

2 2
a) —x —
5 3

4) EcenTeHja:

3
a) —x —
3 5

5) EcenteHja:

3]

b)1
—x —
2

)
N w
x
v w

1 1
C) —X —
)1 1
c) —x —
7

2 5
C) —x —
3 7
2 3
c) —x —
3 7

d)1
—x —
2

d)5
2.2
8




benwiek caHaap

: Nndparop Ti30eri

(

TepeHAaeTinreH geHren

6) EcenTeHis:

)1 1
a)1+ —
5

7) Ecentenjs:

3
wlN
v w

8) EcenTeHis:

b)1+ —

| w
(GEEN

—_
o

(@)
N
wlN
.|.
N w

81

d)5+ =

3 5
d) =+ =
1 6

36
121




benwek caHgap: lNudarop Ti3beri

[ XXAYAINTAP )
( Herisri peHren )
1) a) 8 b) 4 c)2 d)1
2) a) 27 b)9 c)3 d)1
3)a)2 b) 4 c)6 d)8 e) 10 f) 12 g) 14
4)a)5 b) 10 c) 15 d) 20 e) 25 f) 30 g) 35 h) 40
5) a) 1 b) 1 c) L d) L
4 2 16 20
6) a) 1 b) l c) l d) l
6 10 14 18
[ Oprawa geHren )
o ! o1 il o
)a) 5 '3 76 ) %0
2) a) 1 b) 1 c) L d) 1
6 10 14 18
3) a) l b) l c) l d) l
4 2 16 20
4) a) 1 b) 1 c) L d) 1
6 10 14 18
5) a) 2 b) 2 c) 19 d) 5
15 35 21 32
6) a) 3 b) i c) 3 d) i
5 25 7 22
7) a) 1 b) 4 ) 2 d) 2
g 9 “ 49 25




benwek caHgap: lNudarop Ti3beri

( XXAYAINTAP )
( TepeHAaeTinreH aeHren )
)a) b) 0 @) -
4 2 16 20
2)a) - b) — o a4
6 10 14 18
3) a) 2 b) 2 c) 19 d) B
15 35 21 32
4) a) 2 b) o c) 2 d) =
5 25 7 22
5) a) 1 b) 4 c) 2 d) =
4 9 49 25
6)a)5 b) 8 c)7 d)6
nmm mé qﬂ mE
9 8 9 55
8)a) > b) 2 o 2 a9 2
4 5 9 11




